20134 1% #A
hG FATE R 5T

@ HER@TE

EEEIEE(L?

B STEMEE S (BRAT)
/%%uﬂ’g‘ﬁz(stxoﬁaa;‘&
gmar—s  Y(X)=0(X)+e (i=L-,n)

i

& 1Ziid TERSH N(0,0°) 1285
2ODHEREH(EE) X & Y OBFRERTMICAEMNT
B B
X B ¢ OLE V() EREBELES

Bl: i, 25 5. XBE

2014%1A238 xR

TS 1THE
kawano@pe.titech.ac.jp
2014%1H23H
201451/8238 EBIE
BEE
B RER

REEHH,: T 0=0, 1 T 0=0,
sys H - [ 020, )

B REMREE

r= "M Y"X __ suwiorssw
n+m (o3

B FEk#E
P(r|>y)=a — B-—HAOBE

B RHOBELEL
M<u  —
T2 — REEsERED T 020, |

B

REESESE [ 6,0, )

201441A238

EIPIER

B[R
2DDEEX L Y DEFRERTHE

y=Er)= 00 |

B ERES /= T
ER %5 /[ .

0(x)= a€c+l§

x=t@O&E: AF = FRl
Bl BELENER BELKER. SHERE

2014%1A238 xR




LERER

B ERSM
2
A ab) =] I{(YXI»)
270 20
W EEREH
Hf
1 n
7 exp{ ZZ(Y,—aX,.—b)zj
( )” _cmms
log L(a,b)= —510g27ro2 - 2c172 ;(Yl —aX, by
[ smaE logLa.b) 0Bk = —EBEORME |
2014418238 TEEIBIZ 5

NMRHEERRE LB

B ERGREERORLHEES
X K-k
z;Xf -nX?
_ ZL](XI —)?XK _Y) :§7Xy
Yol -xf s

B TRARERREDE

&:

FREHE TR
g1 JILE oY SU '
Si=—" 1,1(X -Xf S, n—1§(X" X)y,-7)

2014418238 TEEIBIZ

ERFEHDRLHETE
N RAHE

(&,l;) = arg max log L(a b)

ailogLab ZXY+bZX+aZX2 0

X:li)(,. iy ?:liy,.
n g nig
XY -nXY .
Ez:zlf} '2’ nfz b=Y-aX }
Z:z:l/\fi —}’lX

201441A238 HEipiE 6

H R EHEE
HoEk

2DONEE X & Y DHEBERERNLHIER

:Li(Xf—)?XY[—?)
n—143

m BRIRY
HOBE X &Y DEEFETERE — <1

p= S'XY n—>® p:E((X_mx)(Y_my))
8,8, V(X (Y)
2014517238 B




e [ESRES

m AEGRK
E((X—mX)(Y—mY))

N

B HAREHEEGRY
p=l p=-1

p=

201441A238

E FIEiE
B EHiBE
FiErERcEsT—E: E(Y()=06()=0
HAUNBHZOH ORI p,lt2=i’;:f;; At=t, -1,

<

‘ Y(¢) ERBBE — HRES) FHLBRRTHA— J

fBl: Y430 - HIZLLEVRYEER
=Lk - TA—F—HBRHALLBVRYEER
HE — BEAEELGVRYES

BCtEE

B HEHS#
HEBE  Y()=0()+e 1THLT

8, = E(((e)- 00N (1,)-0(z,)))

m 5CHEE

S S

—_hh _ Thbh _1< <
pt,tz S S 0_2 l_pﬁ’z <1

L)

2014%1A238 HEBE

2014%1A238 HEBRE 1"
Xr
B
. HE
(e
E(Y()=0
P(r(e)=E(r()=o" f

N A5E. BCHEE

S(A)=EX () (e +Ar)=c5(0)  plar)

plar)=2

At

201441A238 [iESer 12




— > ()
FF LINILAR
[ | 5>9‘L\/§)bz 55 UL RREB

Y(t)z Zm, rect(t—iT)

~
~
SN—

i=—o0

m;:+Aor -4
L RSN

E(Y(¢t)=0
V()= £(r())= 4
B 5. BT

A(-|ad/T) | <T
S(a) :{ 0 A>T

plAt)=

2014%1A238 xR

FEDH

SEEMEE
Y(X)=0(X)+e,

X=t Oez — wEBE
ERE

O(x)=ax+b
. S .
a=—7r b=Y-aiX
Sy

HORREHERRE
. 1 & _ _
SXY :72()(,_ _XXYz _Y)

n-143
P34
2oug1AseE ]

SV L/NVRAES(BEHEE)

S(ar)=E[Y(e)r (e +Ac)]

2014%1A238 xR




